Units and Conversions Exam Practice

Q1. () Change 750 ml to litres

0.?3 4

(i1)) Change 3.2 litres to ml

3200 ~L

Answer: o) 7-5/( | s2o0 L
(2 marks)

Q2. (i) Change 11.2 km to metres

[ 200 m

(i1)) Change 50 m to km

O - OS K pm

Answer: |12 0 ) O S ks

" (2 marks)
Q3. Starting with the smallest, put these units in order of size:
cm metres millimetres inches feet yards
@ () 0, A O 0
Answer:
(2 marks)

GCSEMathsRevision.com



Q4. (i) Change 285 g to kg
0 285 ks

(i1) Change 1.2 kg to g

Answer: 0 - 245 kﬁ / ’7002/
(2 marks)

Q5. Convert 8.5 feet to inches

Answer: | ey
(1 mark)

Q6. Convert 3500 ml to litres

35/

35/

Answer:

(1 mark)
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Multi-step conversions

Q7. Change 30 metres to mm

30""‘5‘\()0 s —zOOO (@Y N

Sopo o x v T $0° 00 o

Answer: /SO) 3o

(2 marks)
Q8. Change 0.5 km to cm
0O Ske =S0om
Covrm = SoV>\ 00 m
— 09 ke = Soo0d LM
Answer: -SOOOO il
(2 marks)

QY. Change 18000 g to tonnes.

. \gOOOj — lgvo = )Qk&/
\C("\‘) — o = Q00K Torn/

Answer: O Q01X Tounmy
(2 marks)
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Q10. Change 9900 mm to metres.

CM(D —1o = §4b un
Q40 cn =D = 99 ~

Answer-: 6’ 01 M

(2 marks)
Q11. Change 25 cm to km
S c<m = 028 m
025 <o =  0.002S8 kn
Answer: O'OOIS W
(2 marks)
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Q12. In this question, take 1 yard = 36 inches, and use the approximation
1inch =2.5cm

(i) Convert 3 yards to cm

Ix3b = log indv
|0 & X D iy == ?7’0 C M

(Gii) Convert 680 mm to inches

(o= h =06Cem
(¢~ 2SS = 2720

A2 i~dn

Answer:

(4 marks)
Q13. A centilitre is one hundredth of a litre. Convert 4650 ml to centilitres.

) 6_4,,((,,@ < [ooo — ]0 Y"V(

G050 el S dret = 9SGl

L 6S G )

Answer-:

(2 marks)

GCSEMathsRevision.com



Area & Volume conversions

Q14. (i) State how many cm squared there are in one metre squared.

-
= |\ 0000 w~

‘ g
Answer: 0000 om

(1 mark)

(i1) Hence convert 15 m? to cm?

" (W
\S < 10000 o~ = |S 0000 cm

S -
Answer: QOO0 O
(1 mark)
Q15. () Convert 250 mm? to cm?
L= (lommxiomn ) o 1o 1@ wnt
\ T
280 oy = L-Scrm
(i) Convert 0.2 km? to m?
73 P
lkm™ = loOmxlooom o ) T \)Ooo)ooo M
/- T
0 Lk~ — 200)000 ™~

Answer:

Z,g(,,,"-) 200,000 ™

’ (4 marks)
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Q16. Change 754,000,000 cm? to km?

W 1

St ono,d® < loo0d = FHLo0 e

|

+S4Gon — /)OOC),ooo =  Wuf) 29U 00 K

0. GFS%oo Um

Answer-:
(2 marks)
Q17. () Convert 8000 mm? to cm?®

3

—> lc_rﬂ’} g [ 200 s
. 3
=  Coo-= Lo® = £ cn
(ii) Convert 0.00025 km? to m?
= ! =

. | ke = (000 M = \0O0 o0 Coon

7
O - 0oolS X 10w o VY = S 0000 M

)
Answer: 250000 y

(4 marks)
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Applied Mixed Practice Problems

Q18. Sugar cubes measure 1 cm® in volume. Work out how many sugar cubes
can ft inside the box shown:

/ ! Vol — gys;.zg¢m7

114\mm
v \HL‘O"*
,//8cm
< >
94mm
N
y P N

% S 7 L\/‘k’-s
(3 marks)

Answers:

Q19. An art display 1s 1n the form of a square containing 9 identical squares
inside. The cross shape shown 1s to be painted gold, and the rest of the
logo is to be painted silver. A can of silver paint can cover 5000 cm?,
whilst a can of gold paint can cover 3000 cm?.

Work out how many cans of silver paint and gold paint will be needed to

paint the display.
ik sgee i 135033 = 4504450 w-

1350 mm

I Cm?/ thy 201500 "“'mi-r' |00 =720725 en

a C/fo‘(—-—[LLF_ : S‘S‘/h/f/__;’ W(/LA cr € o
[012 S cm
= [oitf = Jow= {375

(‘ﬂ‘Cmf MW’J)
» Kefe Z L{ff?’"w her  caec K100 cw

f

= (loo 7 Voo = V062 cer (’269-«)

L{- j\)’d) /2__ f))vU
(4 marks)

y

Answer-:
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